AAPIAA a2x+1 = at - x 0] FE? (F, a2 A%)

D a @ a+1 ® a-1
@a2—1 ® a’+1

Px+l=a*-xNX a®x+x=a*-1
(@®>+1)x=(a®>-1)(a®*+1)
nx=a’-1(-a*+1>0)




1
O0<k<~—
® 0<k< 1

x%k - <x—4—11>k+i=001
82 Ao} stz
xofl Higt WA= 2 A sty

1
kxz—kx+z(k+l)=0

1
D:(_k)2—4k.;1(k+1)<0

=k2-k-k=-k<0 . k>0
S k>0




a, BE Exret S o, s F 2 A2?

rlo

® a+pi=0°Ha=0, =0

@ a+pi=r+6i°lHa=r =6
® a?+p=00°"Ha=0,=0
@aﬁzooma:o&%ﬁ:o
® a?<0

~&B

Qa=1,B=i°lHa+Bi=1+i2=00°A%a%0,8£0
ot}

@Qa=1,B=1°Ha+Bi=1+i°2, r=2 6=-1+i
OfHr4di=1+iNNa+Bi=r+6iolXTta+r, B#6
olct.

Qa=1=i°l8a?+2=1+i2=00°ATa+0, B+0

=2

@a #0012 #0012 7ok ap = 0 ) Fief - 2
FotH g =0 ©] Elo] Rgo|th. wafA o =0°]H a =0
E=p4=00|ch

® (=81F)2 <00l a=1+i°]Ha? = (1+i)? = 2i 7} =]

FrE &4 ohth,

(]




4.  OIATAHA 2 thkx+3k-11 =09 F 29| A7t Havt HER A

kel gh& AJsto=t.
> E:

> Hehl 6

~&B

P4+ kx+3k-11=09 F 2= o, gL S5HH
a+p=-k af=3k-11

(@=p)* = (a+p)* - 4op
=k?-12k+44=(k-6)>+38

et k=69 o (o -B)* = &

B
\/B

lo -8l = —°|E2
lal

VK2 — 12k + 44
o-fl= ————

k2 =12k +447F HA0|HH k=6




2 o, p ol tist] o5 27 § &2 AS BF A=d? (Fa e

a4 A2 E 4dpolet)

@ a?+p=00°Ha=00°]2L =0 0|}

© a+pi=0°Ha=00°]1g=0-0]c}

©® @=a °l¥ o = AFo|t},
af =

B oltt,

® a=p°I" a+p,

® 3,06 @ 9,00 ® 0.6
@ 0060 Oee

© §te: a—lﬁ:l%"lﬂaJr,Bz—O
Ga=a—a=4d5 &)
@ a=a+bi,a=p=a-bila,be=HF)




